

Di., 15.12.2020

$$\begin{aligned} \text{s. 54/6a)} \quad \frac{3}{4} + \frac{2}{3} + \frac{1}{2} &= \\ &= \frac{9}{12} + \frac{8}{12} + \frac{6}{12} = \frac{23}{12} = 1 \frac{11}{12} \end{aligned}$$

$$\begin{aligned} \text{b)} \quad \frac{1}{2} + \frac{3}{8} - \frac{4}{16} &= \\ &= \frac{1}{2} + \frac{3}{8} - \frac{2}{8} = \\ &= \frac{4}{8} + \frac{3}{8} - \frac{2}{8} = \frac{5}{8} \end{aligned}$$

$$\begin{aligned} \text{c)} \quad \frac{1}{4} + \frac{1}{6} - \frac{3}{5} &= \\ &= \frac{15}{60} + \frac{10}{60} - \frac{36}{60} \\ &= -\frac{11}{60} \end{aligned}$$

$$\begin{aligned} \text{d)} \quad \frac{3}{8} + \frac{8}{12} + \frac{1}{9} + \frac{5}{8} &= \\ &= \frac{8}{8} + \frac{2}{3} + \frac{1}{9} \\ &= 1 + \frac{6}{9} + \frac{1}{9} = 1 + \frac{7}{9} = 1\frac{7}{9} \end{aligned}$$